&7/~ DIRTFREAIC APPLICATION by MODEL

KAWASAKI KX230/450
-2020

Bike | Year | Description | Part number
A=V

KX250/450 19-20 | SX-3 Bar MX-123 Black ZE06-1231
KX250/450 19-20 | SX-3 Bar MX-123 Blue ZE06-1232
KX250/450 19-20 | SX-3 Bar MX-123 Red ZE06-1233
KX250/450 19-20 | CX Bar MX-123 Black ZE09-1231
KX250/450 19-20 |CX Bar MX-123 Blue ZE09-1232
KX250/450 19-20 | CX Bar MX-123 Red ZE09-1233
KX450 19-20 |RX-Clamp Kit W:98 ZE32-4051
KX250 19-20 |RX2-Clamp Kit ZE32-4201
KX450 19-20 |RX2-Clamp Kit ZE32-4201
KX450 17-20 | COMP Stabilizer W98 ZE33-2098
KX450 19-20 |Pivot Lever <Brake> CP-M 3-Fin ZE41-3220
KX250 19-20 | Pivot Lever <Brake> CP-M 3-Fin ZE41-3265
KX450 19-20 | Pivot Lever <Brake> FP-M 3-Fin ZE41-3620
KX250 19-20 |Pivot Lever <Brake> FP-M 3-Fin ZE41-3665
KX450 19-20 |Pivot Lever <Clutch> CP-M 3-Fin ZE42-3221
KX250 19-20 | Pivot Lever <Clutch> CP-M 3-Fin ZE42-3261
KX450 19-20 |Pivot Lever <Clutch> FP-M 3-Fin ZE42-3621
KX250 19-20 | Pivot Lever <Clutch> FP-M 3-Fin ZE42-3661
KX450 19-20 |Pivot Lever <Clutch> CP-M 4-Fin ZE42-4221
KX250 19-20 |Pivot Lever <Clutch> CP-M 4-Fin ZE42-4261
KX450 19-20 |Pivot Lever <Clutch> FP-M 4-Fin ZE42-4621
KX250 19-20 |Pivot Lever <Clutch> FP-M 4-Fin ZE42-4661
KX250 19-20 |Pivot Lever Set FP Black ZE44-1111
KX250 19-20 |Pivot Lever Set FP Blue ZE44-1112
KX250 19-20 |Pivot Lever Set FP Red ZE44-1113
KX450 19-20 |Pivot Lever Set FP Black ZE44-1121
KX450 19-20 |Pivot Lever Set FP Blue ZE44-1122
KX250 19-20 | Aluminum Throttle Tube STD ZE45-5001
KX450 19-20 | Aluminum Throttle Tube STD ZE45-5001
KX250 19-20 | Aluminum Throttle Tube Quick ZE45-5101
KX450 19-20 | Aluminum Throttle Tube Quick ZE45-5101
KX250 19-20 | Aluminum Throttle Tube Closed ZE45-5201
KX450 19-20 | Aluminum Throttle Tube Closed ZE45-5201
KX250 19-20 | Throttle Tube Closed End ZE45-8001
KX450 19-20 | Throttle Tube Closed End ZE45-8001
KX250 19-20 | Throttle Tube Open End ZE45-8101
KX450 19-20 | Throttle Tube Open End ZE45-8101
KX250 19-20 |Billet Kit Red ZE51-2142
KX250 19-20 |Billet Kit Blue ZE51-2146
KX250 19-20 |FrameGuard ZE52-0142
KX250 19-20 |Front Disk Guard Mounting Kit ZE52-1220
KX450 19-20 |Front Disk Guard Mounting Kit ZE52-1230
KX250 19-20 | Adjustable Lowering Link kit Black ZE56-01230
KX250 19-20 |Lowering Link kit -30mm Black ZE56-05230
KX450 19-20 |Front Fork Cap Red ZE56-10172
KX250 20 |Front Fork Cap KYB AOS Black ZE56-10180
KX250 20 |Front Fork Cap KYB AOS Blue ZE56-10186
KX250 20 |Front Fork Bottom Adjuster KYB AOS Black/Red 2pcs ZE56-20010
KX450 19-20 |Front Fork Bottom Adjuster SHOWA AQOS Black/Red 2pcs ZE56-20020
KX250 20 [LowDown Inner Kit Front KYB AOS25 -30mm ZE56-31020
KX450 19-20 |LowDown Inner Kit Front SHOWA AOS -30mm ZE56-31050
KX250 19-20 |Rear Suspension Lowering Kit SHOWA/KYB/WP 50¢ -30mm Red ZE56-32250
KX450 19-20 |Rear Suspension Lowering Kit SHOWA/KYB/WP 50¢ -30mm Red ZE56-32250
KX250 20 |FreePiston for KYB TwinChamber STD ZE56-40010
KX250 20 |[FreePiston for KYB TwinChamber LT ZE56-40012
KX250 19-20 |Magnetic Drain Bolt M10x15-P1.5 Blue ZE58-1322
KX250 19-20 [Magnetic Drain Bolt M10x15-P1.5 Red ZE58-1323
KX250 19-20 | Stem Nut M24x32-P1.5 H10 Black ZE58-2251
KX450 19-20 | Stem Nut M24x32-P1.5 H10 Black ZE58-2251
KX250 19-20 | Stem Nut M24x32-P1.5 H10 Blue ZE58-2252
KX450 19-20 | Stem Nut M24x32-P1.5 H10 Blue ZE58-2252
KX250 19-20 | Stem Nut M24x32-P1.5 H10 Red ZE58-2253
KX450 19-20 | Stem Nut M24x32-P1.5 H10 Red ZE58-2253
KX250 19-20 | AirFilter Holding Bolt 75mm Red ZE59-0302
KX450 19-20 | AirFilter Holding Bolt 35mm Red ZE59-0402
KX250 19-20 |CaseSaver Red ZEB80-7102
KX250 19-20 |CaseSaver Blue ZE80-7106
KX250 19-20 | CaseSaver with Cover Red ZE80-8102
KX250 19-20 | CaseSaver with Cover Blue ZE80-8106
KX450 19-20 | CaseSaver with Cover Black ZE80-8110
KX250 19-20 |Drive Cover Blue ZE80-9054
KX250 19-20 |Drive Cover Red ZEB80-9055
KX250 19-20 | Chain Guide Black ZE82-1100
KX450 19-20 | Chain Guide Black ZE82-1110
KX450 19-20 | Brake Reservoir Cover <Front> Blue ZE86-1101
KX450 19-20 | Brake Reservoir Cover <Front> Red ZE86-1103
KX250 19-20 |Brake Reservoir Cover <Front> Blue ZE86-2101
KX250 19-20 | Brake Reservoir Cover <Front> Red ZE86-2103
KX250 19-20 | Brake Reservoir Cover <Rear> Blue ZE86-6101



&7/~ DIRTFREAIC APPLICATION by MODEL

Bike | Year | Description | Part number
ZETA

KX450 19-20 |Brake Reservoir Cover <Rear> Blue ZE86-6101
KX250 19-20 |Brake Reservoir Cover <Rear> Red ZE86-6103
KX450 19-20 |Brake Reservoir Cover <Rear> Red ZEB86-6103
KX250 19-20 |Gas Cap Blue ZE87-1501
KX450 19-20 |Gas Cap Blue ZE87-1501
KX250 19-20 |Gas Cap Red ZE87-1503
KX450 19-20 |Gas Cap Red ZE87-1503
KX250 19-20 | Tank Holder Washer Kit Blue ZE88-1004
KX250 19-20 | Tank Holder Washer Kit Red ZE88-1005
KX250 19-20 | Tank Holder Washer Kit Gold ZE88-1007
KX450 19-20 | Aluminum Bolt Set for Plastics 21pcs Red ZE88-5252
KX450 19-20 | Aluminum Bolt Set for Plastics 21pcs Blue ZE88-5256
KX250 19-20 | Aluminum Bolt Set for Plastics 25pcs Red ZE88-5262
KX250 19-20 | Aluminum Bolt Set for Plastics 25pcs Blue ZEB88-5266
KX250 19-20 |Fork Guard Bolt Set 6pcs. Red ZE88-9202
KX450 19-20 |Fork Guard Bolt Set 6pcs. Red ZE88-9202
KX250 19-20 |Fork Guard Bolt Set 6pcs. Blue ZE88-9206
KX450 19-20 |Fork Guard Bolt Set 6pcs. Blue ZE88-9206
KX250 19-20 | Oil Filler Plug Red ZE89-2310
KX450 19-20 | Oil Filler Plug Red ZE89-2310
KX250 19-20 | Oil Filler Plug Blue ZE89-2312
KX450 19-20 | Oil Filler Plug Blue ZE89-2312
KX250 19-20 |R-Brake Clevis Blue ZE89-5124
KX450 19-20 |R-Brake Clevis Blue ZE89-5124
KX250 19-20 |R-Brake Clevis Red ZE89-5125
KX450 19-20 |R-Brake Clevis Red ZE89-5125
KX250 19-20 |Launch Control Black ZE89-7111
KX450 19-20 | Oil Filter Cover Red ZE90-1183
KX250 19-20 |Revolver Shift Lever Red ZE90-3112
KX450 19-20 |Revolver Shift Lever Red ZE90-3122
KX450 19-20 |Revolver Shift Lever Rep. Tip Mount Straight Red ZE90-3902
KX250 19-20 |Revolver Shift Lever Rep. Tip Mount Offset Red ZE90-3912
KX250 19-20 |Revolver Shift Lever Rep. Tip 23mm Ti-Color ZE90-3920
KX450 19-20 |Revolver Shift Lever Rep. Tip 23mm Ti-Color ZE90-3920
KX250 19-20 |Forged Shift Lever Red ZE90-4112
KX450 19-20 |Forged Shift Lever Red ZE90-4122
KX250 19-20 |Fork Top Bleeder S-Type SHOWA/KYB Blue each ZE91-1312
KX250 19-20 |Fork Top Bleeder S-Type SHOWA/KYB Red each ZE91-1316
KX450 19-20 |Fork Top Bleeder S-Type SHOWA/KYB Blue 2pcs ZE91-1322
KX450 19-20 |Fork Top Bleeder S-Type SHOWA/KYB Red 2pcs ZE91-1326
KX250 19-20 |Front Brake Line Clamp Red ZE92-2106
KX450 19-20 |Front Brake Line Clamp Red ZE92-2106
KX250 19-20 |Front Brake Line Clamp Blue ZE92-2107
KX450 19-20 |Front Brake Line Clamp Blue ZE92-2107
KX250 19-20 | Aluminum FootPegs Black ZE93-1220
KX450 19-20 | Aluminum FootPegs Black ZE93-1220
KX250 19-20 |Fast-RearWheel Spacer Red ZE93-2202
KX450 19-20 |Fast-RearWheel Spacer Red ZE93-2202
KX250 19-20 | Wheel Spacer Front Red ZE93-3211
KX250 19-20 |Rear Axle Block Blue ZE93-5142
KX450 19-20 |Rear Axle Block Blue ZE93-5142
KX250 19-20 |Rear Axle Block Red ZE93-5143
KX450 19-20 |Rear Axle Block Red ZE93-5143
KX250 19-20 | Axle Nut M18x24-P1.5 H9 Green ZE93-8035
KX450 19-20 | Axle Nut M18x24-P1.5 H9 Green ZE93-8035
KX250 19-20 | Axle Nut M18x24-P1.5 H9 Blue ZE93-8036
KX450 19-20 | Axle Nut M18x24-P1.5 H9 Blue ZE93-8036
KX250 19-20 | Axle Nut M22x32-P1.5 H12L Red ZE93-8052
KX450 19-20 | Axle Nut M22x32-P1.5 H12L Red ZE93-8052
KX250 19-20 | Axle Nut M22x32-P1.5 H12L Green ZE93-8055
KX450 19-20 | Axle Nut M22x32-P1.5 H12L Green ZE93-8055
KX250 19-20 | Axle Nut M22x32-P1.5 H12L Blue ZE93-8056
KX450 19-20 | Axle Nut M22x32-P1.5 H12L Blue ZE93-8056
KX250 19-20 |Rear Caliper Guard ZC35-0112
KX450 19-20 |Rear Caliper Guard ZC35-0112
KX250 19-20 |Drive Cover ZC35-3113
KX250 19-20 |Front Fork Wraps 52x178mm ZC35-4334
KX450 19-20 |Front Fork Wraps 52x178mm ZC35-4334
KX250 19-20 |Front Fork Wraps 52x225mm Z2C35-4336
KX450 19-20 |Front Fork Wraps 52x248mm ZC35-4338
KX250 19-20 [R50 Rim 19-1.85 36H-1 Black WO01-73411
KX250 19-20 [R50 Rim 19-1.85 36H-1 Red WO01-73413
KX250 19-20 |R50 Rim 19-1.85 36H-1 Green WO01-73414
KX250 19-20 [R50 Rim 19-1.85 36H-1 Silver WO01-73418
KX450 19-20 [R50 Rim 19-2.15 36H-1 Black WO01-74411
KX450 19-20 [R50 Rim 19-2.15 36H-1 Red W01-74413
KX450 19-20 [R50 Rim 19-2.15 36H-1 Green WO01-74414
KX450 19-20 [R50 Rim 19-2.15 36H-1 Silver WO01-74418
KX250 19-20 [R50 Rim 21-1.60 36H-1 Black W01-92411
KX450 19-20 [R50 Rim 21-1.60 36H-1 Black W01-92411
KX250 19-20 [R50 Rim 21-1.60 36H-1 Red W01-92413
KX450 19-20 [R50 Rim 21-1.60 36H-1 Red W01-92413
KX250 19-20 [R50 Rim 21-1.60 36H-1 Green W01-92414
KX450 19-20 [R50 Rim 21-1.60 36H-1 Green W01-92414
KX250 19-20 [R50 Rim 21-1.60 36H-1 Silver W01-92418
KX450 19-20 [R50 Rim 21-1.60 36H-1 Silver W01-92418



&7/~ DIRTFREAIC APPLICATION by MODEL

Bike | Year | Description | Part number
Z-WHEEL

KX250 19-20 | Steel Spoke Set <Rear> W10-13540
KX450 19-20 | Steel Spoke Set <Rear> W10-13540
KX250 19-20 | Steel Spoke Set <Front> W10-19110
KX450 19-20 | Steel Spoke Set <Front> W10-19110
KX250 19-20 | SUS304 Spoke Set <Rear> W10-23540
KX450 19-20 | SUS304 Spoke Set <Rear> W10-23540
KX250 19-20 | SUS304 Spoke Set <Front> W10-29110
KX450 19-20 | SUS304 Spoke Set <Front> W10-29110
KX250 19-20 | AR1 Wheel Set 1.60-21 <Front> Black-Hub W21-43011
KX250 19-20 | AR1 Wheel Set 1.60-21 <Front> Green-Hub W21-43111
KX450 19-20 | AR1 Wheel Set 1.60-21 <Front> Black-Hub W21-43211
KX450 19-20 | AR1 Wheel Set 1.60-21 <Front> Green-Hub W21-43311
KX250 19-20 | AR1 Wheel Set 1.85-19 <Rear> Black-Hub W21-53011
KX450 19-20 | AR1 Wheel Set 2.15-19 <Rear> Black-Hub W21-53031
KX250 19-20 | AR1 Wheel Set 2.15-18 <Rear> Black-Hub W21-53051
KX450 19-20 | AR1 Wheel Set 2.15-18 <Rear> Black-Hub W21-53051
KX250 19-20 | AR1 Wheel Set 1.85-19 <Rear> Green-Hub W21-53111
KX450 19-20 | AR1 Wheel Set 2.15-19 <Rear> Green-Hub W21-53131
KX250 19-20 | AR1 Wheel Set 2.15-18 <Rear> Green-Hub W21-53151
KX450 19-20 | AR1 Wheel Set 2.15-18 <Rear> Green-Hub W21-53151
KX250 19-20 | AR1 Motard Wheel Set <Front> Green Hub W27-13011
KX250 19-20 | AR1 Motard Wheel Set <Front> Green Hub W27-13012
KX250 19-20 | AR1 Motard Wheel Kit <Front> 16.5inch x 3.50 Black-Hub W27-13111
KX250 19-20 | AR1 Motard Wheel Kit <Front> 17inch x 3.50 Black-Hub W27-13112
KX450 19-20 | AR1 Motard Wheel Kit <Front> 16.5inch x 3.50 Black-Hub W27-13211
KX450 19-20 | AR1 Motard Wheel Kit <Front> 17inch x 3.50 Black-Hub W27-13212
KX450 19-20 | AR1 Motard Wheel Kit <Front> 16.5inch x 3.50 Green-Hub W27-13311
KX450 19-20 | AR1 Motard Wheel Kit <Front> 17inch x 3.50 Green-Hub W27-13312
KX250 19-20 | AR1 Motard Wheel Set <Rear> Green-Hub W27-23011
KX450 19-20 | AR1 Motard Wheel Set <Rear> Green-Hub W27-23011
KX250 19-20 | AR1 Motard Wheel Set <Rear> Black-Hub W27-23111
KX450 19-20 | AR1 Motard Wheel Set <Rear> Black-Hub W27-23111
KX250 19-20 | Aluminum Nipple Q4 36pcs Black W31-Q4361
KX450 19-20 | Aluminum Nipple Q4 36pcs Black W31-Q4361
KX250 19-20 | Aluminum Nipple Q4 36pcs Blue W31-Q4362
KX450 19-20 | Aluminum Nipple Q4 36pcs Blue W31-Q4362
KX250 19-20 | Aluminum Nipple Q4 36pcs Red W31-Q4363
KX450 19-20 | Aluminum Nipple Q4 36pcs Red W31-Q4363
KX250 19-20 | Aluminum Nipple Q4 36pcs Green W31-Q4364
KX450 19-20 | Aluminum Nipple Q4 36pcs Green W31-Q4364
KX250 19-20 | Aluminum Nipple Q4 36pcs Yellow W31-Q4365
KX450 19-20 | Aluminum Nipple Q4 36pcs Yellow W31-Q4365
KX250 19-20 | Aluminum Nipple Q4 36pcs Silver W31-Q4368H
KX450 19-20 | Aluminum Nipple Q4 36pcs Silver W31-Q4368H
KX250 19-20 | Astelight Hub <Front> Black W41-21111
KX250 19-20 | Astelight Hub <Front> Green W41-21114
KX450 19-20 | Astelight Hub <Front> Black W41-21121
KX450 19-20 | Astelight Hub <Front> Green W41-21124
KX250 19-20 | Astelight Hub <Rear> Black W41-21211
KX450 19-20 | Astelight Hub <Rear> Black W41-21211
KX250 19-20 | Astelight Hub <Rear> Green W41-21214
KX450 19-20 | Astelight Hub <Rear> Green W41-21214
KX250 20 |Zigram Rotor <Front> SUS W51-10127
KX450 19-20 | Zigram Rotor <Front> SUS W51-10127
KX250 20 |Zigram Rotor <Rear> SUS W51-20126
KX450 19-20 | Zigram Rotor <Rear> SUS W51-20126
KX450 19-20 |Brake Hose <Front> C.BLK W61-10011
KX250 19-20 |Brake Hose <Front> C.BLK W61-12021
KX450 19-20 |Brake Hose <Front> C.BLK W61-12021
KX250 19-20 |Brake Hose <Front> BLU W61-12022
KX450 19-20 |Brake Hose <Front> BLU W61-12022
KX250 19-20 |Brake Hose <Front> RED W61-12023
KX450 19-20 |Brake Hose <Front> RED W61-12023
KX250 19-20 |Brake Hose <Rear> C.BLK W61-25021
KX450 19-20 |Brake Hose <Rear> C.BLK W61-25021
KX250 19-20 |Brake Hose <Rear> BLU W61-25022
KX450 19-20 |Brake Hose <Rear> BLU W61-25022
KX250 19-20 |Brake Hose <Rear> RED W61-25023
KX450 19-20 |Brake Hose <Rear> RED W61-25023
KX250 19-20 |DC SUS Spoke Set <Front> DC421-1052
KX450 19-20 |DC SUS Spoke Set <Front> DC421-1052
KX250 19-20 |DC SUS Spoke Set <Rear> DC421-5065
KX450 19-20 |DC SUS Spoke Set <Rear> DC421-5065
KX250 19-20 |DC SUS Spoke Set <Rear> 18inchConversion DC421-5231
KX450 19-20 |DC SUS Spoke Set <Rear> 18inchConversion DC421-5231
KX250 19-20 |Brake Disk ThinHeadBolt Set 9-M6 14mm 4pcs ZT31-3424
KX450 19-20 |Brake Disk ThinHeadBolt Set 9-M6 14mm 4pcs ZT31-3424
KX250 19-20 |Brake Disk ThinHeadBolt Set 10-M8 14.5mm 4pcs ZT31-3724
KX450 19-20 |Brake Disk ThinHeadBolt Set 10-M8 14.5mm 4pcs ZT31-3724
KX250 19-20 | Sprocket Taper Bolt/Nut Set M8 25mm 6pcs ZT34-2506N
KX450 19-20 | Sprocket Taper Bolt/Nut Set M8 25mm 6pcs ZT34-2506N
KX250 19-20 [Chain AjusterBolt/Nut Set M8 50mm 2pcs ZT38-5501
KX450 19-20 | Chain AjusterBolt/Nut Set M8 50mm 2pcs ZT38-5501
KX250 19-20 | Axle Shaft <Front> ZT760-2164
KX250 19-20 | Axle Shaft <Rear> ZT60-2264
KX450 19-20 | Axle Shaft <Rear> ZT60-2264
KX250 19-20 |Flange Bolt Set M8 35mm 4pcs ZT83-2354




&7/~ DIRTFREAIC APPLICATION by MODEL

Bike | Year | Description
Z-TITANIUM
KX450 19-20 |Flange Bolt Set M8 35mm 4pcs
KX250 19-20 |Flange Bolt Set M8 40mm 2pcs
KX450 19-20 |Flange Bolt Set M8 40mm 2pcs
KX250 19-20 |Flange Bolt Set M8 40mm 4pcs
KX450 19-20 |Flange Bolt Set M8 40mm 4pcs
KX250 19-20 |Flange Bolt Set M8 45mm 4pcs
KX450 19-20 |Flange Bolt Set M8 45mm 4pcs
KX250 19-20 [EX Joint Gasket
KX450 19-20 |Dura Sprocket <Front> 520-12T
KX450 19-20 |Dura Sprocket <Front> 520-13T
KX450 19-20 |Dura-Light Sprocket <Front> 520-13T
KX450 19-20 |Dura Sprocket <Front> 520-14T
KX250 19-20 |Dura Sprocket <Front> 520-12T
KX250 19-20 |Dura Sprocket <Front> 520-13T
KX250 19-20 |Dura-Light Sprocket <Front> 520-13T
KX250 19-20 |Dura Sprocket <Front> 520-14T
KX250 19-20 |Dura Sprocket <Rear> 520-39T
KX450 19-20 |Dura Sprocket <Rear> 520-39T
KX250 19-20 |Dura Sprocket <Rear> 520-40T
KX450 19-20 |Dura Sprocket <Rear> 520-40T
KX250 19-20 |Dura Sprocket <Rear> 520-41T
KX450 19-20 |Dura Sprocket <Rear> 520-41T
KX250 19-20 |Dura Sprocket <Rear> 520-42T
KX450 19-20 |Dura Sprocket <Rear> 520-42T
KX250 19-20 |Dura Sprocket <Rear> 520-43T
KX450 19-20 |Dura Sprocket <Rear> 520-43T
KX250 19-20 |Dura Sprocket <Rear> 520-44T
KX450 19-20 |Dura Sprocket <Rear> 520-44T
KX250 19-20 |Dura Sprocket <Rear> 520-45T
KX450 19-20 |Dura Sprocket <Rear> 520-45T
KX250 19-20 |Dura Sprocket <Rear> 520-46T
KX450 19-20 |Dura Sprocket <Rear> 520-46T
KX250 19-20 |Dura Sprocket <Rear> 520-47T
KX450 19-20 |Dura Sprocket <Rear> 520-47T
KX250 19-20 |Dura Sprocket <Rear> 520-48T
KX450 19-20 |Dura Sprocket <Rear> 520-48T
KX250 19-20 |Dura Sprocket <Rear> 520-49T
KX450 19-20 |Dura Sprocket <Rear> 520-49T
KX250 19-20 |Dura Sprocket <Rear> 520-50T
KX450 19-20 |Dura Sprocket <Rear> 520-50T
KX250 19-20 |Dura Sprocket <Rear> 520-51T
KX450 19-20 |Dura Sprocket <Rear> 520-51T
KX250 19-20 |Dura Sprocket <Rear> 520-52T
KX450 19-20 |Dura Sprocket <Rear> 520-52T
KX250 19-20 |Dura Sprocket <Rear> 520-53T
KX450 19-20 |Dura Sprocket <Rear> 520-53T
KX250 19-20 | Stock Replacement Lever <Clutch> STD
KX250 19-20 | Stock Replacement Lever <Clutch> Short
KX250 19-20 | Stock Replacement Lever <Brake> STD
KX250 20 |Radiator Hose Kit Blue
KX450 19-20 |Radiator Hose Kit Blue
KX250 19-20 |FootPegs Spring/Pin Set
KX450 19-20 |FootPegs Spring/Pin Set
KX250 19-20 | Wide Foot Pegs CrMo Mid
KX450 19-20 | Wide Foot Pegs CrMo Mid
KX250 19-20 | Wide Foot Pegs CrMo High
KX450 19-20 | Wide Foot Pegs CrMo High
KX250 19-20 | Wide Foot Pegs CrMo U-Wide
KX450 19-20 | Wide Foot Pegs CrMo U-Wide
KX250 19-20 [Motard Foot Pegs CrMo
KX450 19-20 [Motard Foot Pegs CrMo
KX250 19-20 | Stainless Brake Pin A-Type 52mm
KX450 19-20 | Stainless Brake Pin A-Type 52mm
KX250 19-20 | Stainless Brake Pin B-Type 37mm
KX450 19-20 | Stainless Brake Pin B-Type 37mm
KX250 19-20 | Stainless Brake Pin Set 2pcs A52,B37
KX450 19-20 | Stainless Brake Pin Set 2pcs A52,B37
KX250 20 |Fork Compression Valve Removal Tool for KYB
KX450 19-20 |Bleed Cup for RearShock for Showa-2
KX250 20 |Bleed Cup for RearShock for KYB
KX250 20 |Pro Fork Cap Wrench KYB 49mm Blue
KX450 19-20 |Pro Fork Cap Wrench SHOWA 50mm Red
KX250 20 |ENZO-Tool Base Valve Jig KYB AOS Black
KX450 19-20 |ENZO-Tool Base Valve Jig SHOWA AOS Red

Part number

ZT83-2354
ZT83-2402
ZT83-2402
ZT83-2404
ZT83-2404
ZT83-2454
ZT183-2454

D31-41-210
D331-530-12
D331-530-13

D331-530-13L
D331-530-14
D331-547-12
D331-547-13

D331-547-13L
D331-547-14

D34-24-039
D34-24-039
D34-24-040
D34-24-040

D34-24-041

D34-24-041

D34-24-042

D34-24-042
D34-24-043
D34-24-043
D34-24-044
D34-24-044
D34-24-045
D34-24-045
D34-24-046
D34-24-046

D34-24-047

D34-24-047
D34-24-048
D34-24-048
D34-24-049
D34-24-049
D34-24-050
D34-24-050

D34-24-051

D34-24-051

D34-24-052

D34-24-052
D34-24-053
D34-24-053

D40-01-708
D40-03-708

D40-11-608

D47-01-262

D47-01-302

D48-01-114

D48-01-114

D48-02-531

D48-02-531

D48-02-631

D48-02-631

D48-02-831

D48-02-831

D48-02-931

D48-02-931

D58-33-074

D58-33-074
D58-33-082
D58-33-082

D58-33-221

D58-33-221

D59-24-016

D59-37-159

D59-37-160

D59-37-170

D59-37-171
ED59-37-201
ED59-37-203



	kx250_450_1
	kx250_450_2
	kx250_450_3
	kx250_450_4

